

Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Trace Formulae for a Conformable Fractional Diffusion Operator

Yaşar Çakmaka

^aDepartment of Mathematics, Faculty of Sciences, Sivas Cumhuriyet University, 58140 Sivas, Turkey

Abstract. In this paper, we obtain the regularized trace formulae for a diffusion operator, which includes conformable fractional derivatives of order α ($0 < \alpha \le 1$) instead of the ordinary derivatives in a traditional diffusion operator by the contour integration method. The results of this paper are of great importance in solving inverse problems and can be considered as partial fractional generalizations.

1. Introduction

The fractional derivative has an important place in the applied mathematics. Since 1695, several definitions of fractional derivatives such as the Riemann–Liouville, Caputo, and Grünwald–Letnikov derivatives have been introduced by many authors (see [1]-[4]). In 2014, Khalil et al. defined the conformable fractional derivative by modifying the limit definition of the classical derivative (see [5]). Shortly after, Abdeljawad showed the elementary properties of this derivative (see [6]). Some other important ideas on the conformable derivative were given in ([7], [8], [9]). In 2017, Zhao and Luo gave a physical interpretation of this derivative (see [10]). There are many advantages of Conformable fractional derivative with respect to fractional derivatives. For example, while some mathematical properties such as the product, chain, and division rules are not provided in fractional derivatives, these properties are provided in the conformable fractional derivative. In [11], it has been realized that this derivative proves to be essential and useful in generating new types of fractional operators. The Conformable fractional derivative arises in various fields such as anomalous diffusion, variational calculus, mechanics, arbitrary time scale problems (see [12]-[17]). Recently, important studies for various operators and differential systems which include the conformable fractional derivatives have been published (see [18]-[30] and references therein).

The trace of a matrix with finite-dimensional is the sum of the elements on the main diagonal and is finite. However, the trace of ordinary differential operators with infinite-dimensional, which is the sum of all eigenvalues, is not finite. Therefore, the concept regularize trace, which is finite, is mentioned for these type operators. The regularized trace formulae have great importance, especially, in the solution of the inverse problem according to two spectra.

For about seventy years, the regularized trace formulae for the different types of differential operators have been investigated. Firstly, in 1953, Gelfand and Levitan obtained the regularized trace formula for the classical Sturm-Liouville operator with Neumann conditions (see [31]). The study led to the birth of a great and very important theory. After this study, the theory of regularized trace has been continued for

2020 Mathematics Subject Classification. Primary 26A33, 34B24, 11F72, 34L05, 34L20 Keywords. Diffusion operator, trace formula, conformable fractional derivative Received: 14 February 2021; Revised: 01 May 2021; Accepted: 29 September 2021 Communicated by Snežana Č. Živković-Zlatanović

Email address: ycakmak@cumhuriyet.edu.tr(Yaşar Çakmak)

the various operators by many researchers (see [32]-[48], and references therein). In 2010, Yang obtained the regularized trace formulas for the classical diffusion operator, i.e., a quadratic pencil of the Schrödinger operator (see [49]). For the conformable fractional differential operators, there is only one study on the trace formulation. In 2019, Mortazaasl and Jodayree Akbarfam calculated the regularized trace formula for a conformable fractional Sturm-Liouville problem (see [50]).

We consider the boundary value problem $L_{\alpha}(p(x), q(x), h, H) = L_{\alpha}$, called as the conformable fractional diffusion operator (CFDO), of the form

$$\ell_{\alpha} y := -T_{\alpha} T_{\alpha} y + [2\lambda p(x) + q(x)] y = \lambda^2 y, \quad 0 < x < \pi$$
(1)

$$U_{\alpha}(y) := T_{\alpha}y(0) - hy(0) = 0 \tag{2}$$

$$V_{\alpha}(y) := T_{\alpha}y(\pi) + Hy(\pi) = 0 \tag{3}$$

where λ is the spectral parameter, $h, H \in \mathbb{R}$, $q(x) \in W_{2,\alpha}^1[0,\pi]$, $p(x) \in W_{2,\alpha}^2[0,\pi]$ are real valued functions, $p(x) \neq const.$, $\alpha \in (0,1]$ and $T_{\alpha}y$ is a conformable fractional derivative of y = y(x) of order α which is defined by

$$T_{\alpha}y = \lim_{h \to 0} \frac{y(x + hx^{1-\alpha}) - y(x)}{h}, \ x > 0 \text{ and } T_{\alpha}y(0) = \lim_{x \to 0^+} T_{\alpha}y(x).$$

We note that more detailed knowledge about the conformable fractional calculus can be seen in [5]-[7], [27]-[29].

In the present paper, we obtained the asymptotics of the eigenvalues and eigenfunctions of the operator L_{α} in the section Preliminaries and the regularized trace formulae for the operator in section Main Result.

2. Preliminaries

In this section, we will obtain the asymptotics of the eigenvalues and eigenfunctions of the operator L_{α} . Let the functions $\varphi := \varphi(x, \lambda; \alpha)$ and $\psi := \psi(x, \lambda; \alpha)$ be the solutions of the equation (1) satisfying the initial conditions

$$\varphi(0,\lambda;\alpha) = 1, T_{\alpha}\varphi(0,\lambda;\alpha) = h, \tag{4}$$

$$\psi(\pi,\lambda;\alpha) = 1, \ T_{\alpha}\psi(\pi,\lambda;\alpha) = -H,\tag{5}$$

respectively. It is clear that $U_{\alpha}(\varphi) = 0$, $V_{\alpha}(\psi) = 0$.

. Denote

$$\Delta_{\alpha}(\lambda) = W_{\alpha}[\psi, \varphi] = \begin{vmatrix} \psi & \varphi \\ T_{\alpha}\psi & T_{\alpha}\varphi \end{vmatrix} = \psi T_{\alpha}\varphi - \varphi T_{\alpha}\psi, \tag{6}$$

where $\Delta_{\alpha}(\lambda)$ is called as the characteristic function of the operator L_{α} and $W_{\alpha}[\psi, \varphi]$ is the fractional Wronskian of the functions ψ and φ . Furthermore, it is proven in [50] that $W_{\alpha}[\psi, \varphi]$ does not depend on x for each fixed α and can be written as

$$\Delta_{\alpha}(\lambda) = V_{\alpha}(\varphi) = -U_{\alpha}(\psi). \tag{7}$$

Lemma 2.1. For $|\lambda| \to \infty$ and each fixed α , the following asymptotic formulae hold:

$$\varphi(x,\lambda;\alpha) = \cos\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) + O\left(\frac{1}{|\lambda|}\exp\left(\frac{|\tau|}{\alpha}x^{\alpha}\right)\right),\tag{8}$$

$$T_{\alpha}\varphi\left(x,\lambda;\alpha\right) = -\left(\lambda - p(x)\right)\sin\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) + O\left(\exp\left(\frac{|\tau|}{\alpha}x^{\alpha}\right)\right) \tag{9}$$

where $\lambda = \sigma + i\tau$ and

$$P(x) := \int_0^x p(t)d_{\alpha}t. \tag{10}$$

Proof. Based on the proof of Lemma 1 for $\alpha = 1$ in [51], we can rewrite equation (1) as follows

$$T_{\alpha}T_{\alpha}y + \frac{T_{\alpha}p(x)}{\lambda - p(x)}T_{\alpha}y + \left[\lambda - p(x)\right]^{2}y = \left[q(x) + p^{2}(x)\right]y + \frac{T_{\alpha}p(x)}{\lambda - p(x)}T_{\alpha}y. \tag{11}$$

It is clear for each fixed α that the system of functions $\left\{\cos\left(\frac{\lambda}{\alpha}x^{\alpha}-P(x)\right), \sin\left(\frac{\lambda}{\alpha}x^{\alpha}-P(x)\right)\right\}$ is a fundamental system for the following differential equation

$$T_{\alpha}T_{\alpha}y + \frac{T_{\alpha}p(x)}{\lambda - p(x)}T_{\alpha}y + \left[\lambda - p(x)\right]^{2}y = 0.$$
(12)

Thus, by the variation of parameters the solution of equation (1) satisfying the initial conditions (4) provides the following integral equations

$$\varphi(x,\lambda;\alpha) = \cos\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) + \frac{h}{\lambda - p(0)}\sin\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) + \int_{0}^{x} \frac{\sin\left[\frac{\lambda}{\alpha}(x^{\alpha} - t^{\alpha}) - P(x) + P(t)\right]}{\lambda - p(t)} \left[\left(q(t) + p^{2}(t)\right)\varphi(t,\lambda;\alpha) + \frac{T_{\alpha}p(t)}{\lambda - p(t)}T_{\alpha}\varphi(t,\lambda;\alpha)\right]d_{\alpha}t$$
(13)

and by α -differentiating (13) with respect to x,

$$T_{\alpha}\varphi(x,\lambda;\alpha) = -(\lambda - p(x)) \left\{ \sin\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) - \frac{h}{\lambda - p(0)}\cos\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) + \int_{0}^{x} \frac{\cos\left[\frac{\lambda}{\alpha}(x^{\alpha} - t^{\alpha}) - P(x) + P(t)\right]}{\lambda - p(t)} \left[\left(q(t) + p^{2}(t)\right)\varphi(t,\lambda;\alpha) + \frac{T_{\alpha}p(t)}{\lambda - p(t)}T_{\alpha}\varphi(t,\lambda;\alpha) \right] d_{\alpha}t \right\}.$$

$$(14)$$

For each fixed α , denote

$$\mu_{1}(\lambda) := \max_{0 \le x \le \pi} \left| \varphi(x, \lambda; \alpha) \exp\left(-\frac{|\tau|}{\alpha} x^{\alpha}\right) \right|, \ \mu_{2}(\lambda) := \max_{0 \le x \le \pi} \left| T_{\alpha} \varphi(x, \lambda; \alpha) \exp\left(-\frac{|\tau|}{\alpha} x^{\alpha}\right) \right|.$$

Since $\left|\cos\left(\frac{\lambda}{\alpha}x^{\alpha}-P(x)\right)\right| \leq \exp\left(\frac{|\tau|}{\alpha}x^{\alpha}\right)$ and $\left|\sin\left(\frac{\lambda}{\alpha}x^{\alpha}-P(x)\right)\right| \leq \exp\left(\frac{|\tau|}{\alpha}x^{\alpha}\right)$, we deduce from (13) and (14) that

$$\mu_{1}\left(\lambda\right) \leq C\left(1 + \frac{|h|}{|\lambda|} + \frac{\mu_{1}(\lambda)}{|\lambda|} + \frac{\mu_{2}(\lambda)}{|\lambda|^{2}}\right), \ \mu_{2}\left(\lambda\right) \leq C\left(|\lambda| + |h| + \mu_{1}\left(\lambda\right) + \frac{\mu_{2}(\lambda)}{|\lambda|}\right).$$

Hence, we get

$$\mu_1(\lambda) \le C$$
, $\mu_2(\lambda) \le C|\lambda|$

or

$$\varphi(x,\lambda;\alpha) = O\left(\exp\left(\frac{|\tau|}{\alpha}x^{\alpha}\right)\right), \ T_{\alpha}\varphi(x,\lambda;\alpha) = O\left(\lambda\exp\left(\frac{|\tau|}{\alpha}x^{\alpha}\right)\right), \ |\lambda| \to \infty.$$

Substituting these into (13) and (14) we obtain (8) and (9). \Box

Applying successive approximations method to the equations (13), we can have the more detalied

asymptotic of the function $\varphi(x, \lambda; \alpha)$ as follows

$$\varphi(x,\lambda;\alpha) = \cos\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) + \frac{p(x) - p(0)}{2\lambda}\cos\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) \\
+ \frac{1}{\lambda}\left(h + \frac{1}{2}\int_{0}^{x}\left(q(t) + p^{2}(t)\right)d_{\alpha}t\right)\sin\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) \\
+ \frac{1}{2\lambda}\int_{0}^{x}\left(q(t) + p^{2}(t)\right)\sin\left(\frac{\lambda}{\alpha}\left(x^{\alpha} - 2t^{\alpha}\right) - P(x) + 2P(t)\right)d_{\alpha}t \\
- \frac{1}{2\lambda}\int_{0}^{x}T_{\alpha}p(t)\cos\left(\frac{\lambda}{\alpha}\left(x^{\alpha} - 2t^{\alpha}\right) - P(x) + 2P(t)\right)d_{\alpha}t \\
+ \frac{1}{\lambda^{2}}\left[\frac{h(p(x) + p(0))}{2} + \frac{1}{4}\int_{0}^{x}\left(q(t) + p^{2}(t)\right)(p(x) - p(0) + 2p(t))d_{\alpha}t\right]\sin\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) \\
+ \frac{1}{\lambda^{2}}\left[\frac{p^{1+\alpha}(x) - p^{1+\alpha}(0)}{2} + \frac{(p(x) - p(0))^{1+\alpha}}{4(1+\alpha)} - \frac{h}{2}\int_{0}^{x}\left(q(t) + p^{2}(t)\right)d_{\alpha}t - \frac{1}{8}\left(\int_{0}^{x}\left(q(t) + p^{2}(t)\right)d_{\alpha}t\right)^{2}\right]\cos\left(\frac{\lambda}{\alpha}x^{\alpha} - P(x)\right) \\
+ O\left(\frac{1}{|\lambda|^{3}}\exp\left(\frac{|\tau|}{\alpha}x^{\alpha}\right)\right), |\lambda| \to \infty,$$

uniformly with respect to $x \in [0, \pi]$, for each fixed α .

The eigenvalues of L_{α} coincide with the zeros of its characteristic function $\Delta_{\alpha}(\lambda) = V_{\alpha}(\varphi) = T_{\alpha}\varphi(\pi, \lambda; \alpha) + H\varphi(\pi, \lambda; \alpha)$. Thus, using the formula (15), we can establish the following asymptotic

$$\Delta_{\alpha}(\lambda) = -\lambda \sin\left(\frac{\lambda}{\alpha}\pi^{\alpha} - c_{0}\right) + \frac{\left(p(\pi) + p(0)\right)}{2} \sin\left(\frac{\lambda}{\alpha}\pi^{\alpha} - c_{0}\right) + c_{1}\cos\left(\frac{\lambda}{\alpha}\pi^{\alpha} - c_{0}\right) + \frac{c_{2}}{\lambda}\sin\left(\frac{\lambda}{\alpha}\pi^{\alpha} - c_{0}\right) + \frac{c_{2}}{\lambda}\sin\left(\frac{\lambda}{\alpha}\pi^{\alpha} - c_{0}\right) + \frac{c_{3}}{\lambda}\cos\left(\frac{\lambda}{\alpha}\pi^{\alpha} - c_{0}\right) + \frac{1}{2}\int_{0}^{\pi} \left(q(t) + p^{2}(t)\right)\cos\left[\frac{\lambda}{\alpha}\left(\pi^{\alpha} - 2t^{\alpha}\right) - c_{0} + 2P(t)\right]d_{\alpha}t + \frac{1}{2}\int_{0}^{\pi} T_{\alpha}p(t)\sin\left[\frac{\lambda}{\alpha}\left(\pi^{\alpha} - 2t^{\alpha}\right) - c_{0} + 2P(t)\right]d_{\alpha}t + O\left(\frac{1}{|\lambda|^{2}}\exp\left(\frac{|\tau|}{\alpha}\pi^{\alpha}\right)\right), |\lambda| \to \infty, \tag{16}$$

where,

$$\begin{split} c_0 &= P(\pi) = \int_0^\pi p(t) d_\alpha t, \\ c_1 &= h + H + \frac{1}{2} \int_0^\pi \left(q(t) + p^2(t) \right) d_\alpha t, \\ c_2 &= \frac{p(\pi) \left(p(\pi) - p(0) \right)}{2} - \frac{p^{1+\alpha} (\pi) - p^{1+\alpha} (0)}{2} - \frac{\left(p(\pi) - p(0) \right)^{1+\alpha}}{4(1+\alpha)} + hH + \frac{h+H}{2} \int_0^\pi \left(q(t) + p^2(t) \right) d_\alpha t + \frac{1}{8} \left(\int_0^\pi \left(q(t) + p^2(t) \right) d_\alpha t \right)^2, \\ c_3 &= \frac{(H-h) \left(p(\pi) - p(0) \right)}{2} + \frac{1}{4} \int_0^\pi \left(q(t) + p^2(t) \right) \left(2p(t) - p(\pi) - p(0) \right) d_\alpha t. \end{split}$$

Take a circle $\Gamma_N = \{\lambda | |\lambda| = \frac{\alpha}{\pi^{\alpha-1}} \left(N + \frac{1}{2}\right), N = 0, 1, 2, \ldots \}$ in the λ -plane for each fixed α . By the standard method using (16) and Rouche's theorem (see [52]) and taking $\Delta_{\alpha}(\lambda_n) = 0$, one can prove that in the circle Γ_N , there exist exactly |n| eigenvalues λ_n and have the form

$$\lambda_n = \frac{n\alpha}{\pi^{\alpha - 1}} + \frac{\alpha c_0}{\pi^{\alpha}} + \frac{c_1 + A_n}{n\pi} + O\left(\frac{1}{n^2}\right), \ |n| \to \infty,\tag{17}$$

where $n \in \mathbb{Z}$ and

$$A_n = \frac{1}{2} \int_0^{\pi} \left(q(t) + p^2(t) \right) \cos \left(\frac{2nt^{\alpha}}{\pi^{\alpha - 1}} + \frac{2c_0t^{\alpha}}{\pi^{\alpha}} - 2P(t) \right) d_{\alpha}t - \frac{1}{2} \int_0^{\pi} T_{\alpha}p(t) \sin \left(\frac{2nt^{\alpha}}{\pi^{\alpha - 1}} + \frac{2c_0t^{\alpha}}{\pi^{\alpha}} - 2P(t) \right) d_{\alpha}t.$$

Corollary 2.2. According to (17), for each fixed α and sufficiently large |n|, the eigenvalues λ_n are real and simple.

3. Main Result

In this section, we will find two regularized trace formulae for the operator L_{α} using the contour integration method as in [49].

Theorem 3.1. Let $\{\lambda_n\}_{n\geq 0}$ be the sequence of the eigenvalues of the operator L_α . Then, for each fixed α , the following trace formulae are valid:

$$2(\lambda_{0} - c_{0}) + \sum_{n=1}^{\infty} \left[\lambda_{n} + \lambda_{-n} - 2c_{0} - \frac{1}{\alpha \pi^{1-\alpha}} \frac{B_{n}}{n} \right] = \frac{p(\pi) + p(0) - 2c_{0}}{2}$$

$$-\frac{1}{2} \int_{0}^{\pi} \left(1 - \frac{2t^{\alpha}}{\alpha} \right) \left(q(t) + p^{2}(t) \right) \sin 2P(t) d_{\alpha}t + \frac{1}{2} \int_{0}^{\pi} \left(1 - \frac{2t^{\alpha}}{\alpha} \right) T_{\alpha}p(t) \cos 2P(t) d_{\alpha}t$$
(18)

and

$$2(\lambda_{0} - c_{0})^{2} + \sum_{n=1}^{\infty} \left[(\lambda_{n} - c_{0})^{2} + (\lambda_{-n} - c_{0})^{2} - 2\left(\frac{n\alpha}{\pi^{1-\alpha}}\right)^{2} - \frac{4\alpha c_{1}}{\pi^{\alpha}} - \frac{2\alpha C_{n}}{\pi^{\alpha}} \right]$$

$$= \frac{2\alpha c_{1}}{\pi^{\alpha}} + \frac{\alpha}{\pi^{\alpha}} \int_{0}^{\pi} \left(q(t) + p^{2}(t) \right) \cos 2P(t) d_{\alpha}t + \frac{\alpha}{\pi^{\alpha}} \int_{0}^{\pi} T_{\alpha}p(t) \sin 2P(t) d_{\alpha}t$$

$$+ (p(\pi) - c_{0}) (p(\pi) - p(0)) - (p(\pi) - c_{0})^{1+\alpha} + (p(0) - c_{0})^{1+\alpha} - \frac{(p(\pi) - p(0))^{1+\alpha}}{2(1+\alpha)}$$

$$+ 2hH + (h+H) \int_{0}^{\pi} \left(q(t) + p^{2}(t) \right) d_{\alpha}t + \frac{1}{4} \left(\int_{0}^{\pi} \left(q(t) + p^{2}(t) \right) d_{\alpha}t \right)^{2},$$

$$(19)$$

$$B_n = \int_0^{\pi} \left(q(t) + p^2(t) \right) \sin\left(\frac{2n\alpha t^{\alpha}}{\pi^{2\alpha - 1}} \right) \sin 2P(t) d_{\alpha}t - \int_0^{\pi} T_{\alpha} p(t) \sin\left(\frac{2n\alpha t^{\alpha}}{\pi^{2\alpha - 1}} \right) \cos 2P(t) d_{\alpha}t,$$

$$C_n = \int_0^{\pi} \left(q(t) + p^2(t) \right) \cos\left(\frac{2n\alpha t^{\alpha}}{\pi^{2\alpha - 1}} \right) \cos 2P(t) d_{\alpha}t + \int_0^{\pi} T_{\alpha} p(t) \cos\left(\frac{2n\alpha t^{\alpha}}{\pi^{2\alpha - 1}} \right) \sin 2P(t) d_{\alpha}t.$$

Proof. Firstly, we consider the case $c_0 = 0$.

$$\Delta_{\alpha}^{0}(\lambda) = -\lambda \sin\left(\frac{\lambda}{\alpha}\pi^{\alpha}\right). \tag{20}$$

It is clear for each fixed α that the zeros of the function $\Delta_{\alpha}^{0}(\lambda)$ is

$$\mu_n = \frac{n\alpha}{\pi^{\alpha-1}}, \ n \in \mathbb{Z},$$

where only $\mu_0 = 0$ is double. We note that for each fixed α and sufficiently large N, the eigenvalues λ_n which are the zeros of $\Delta_{\alpha}(\lambda)$ are inside Γ_N and the numbers μ_n do not lie on the contour Γ_N .

Let $\Delta_{\alpha}(\lambda) = \lambda (\lambda - \lambda_n)$ and $\Delta_{\alpha}^0(\lambda) = \lambda \left(\lambda - \frac{n\alpha}{\pi^{\alpha-1}}\right)$, then we have from the logarithmic derivatives of the functions $\Delta_{\alpha}(\lambda)$ and $\Delta_{\alpha}^{0}(\lambda)$ that

$$\lambda \frac{\Delta_{\alpha}(\lambda)}{\Delta_{\alpha}(\lambda)} = \frac{2\lambda - \lambda_n}{\lambda - \lambda_n} \text{ and } \lambda \frac{\Delta_{\alpha}(\lambda)}{\Delta_{\alpha}^0(\lambda)} = \frac{2\lambda - \frac{n\alpha}{\pi^{\alpha-1}}}{\lambda - \frac{n\alpha}{\pi^{\alpha-1}}},$$

respectively where $\Delta=\frac{d}{d\lambda}$. Thus, from the residue theorem, the following equalities are valid:

$$\frac{1}{2\pi i} \oint_{\Gamma_N} \lambda \frac{\dot{\Delta}_{\alpha}(\lambda)}{\Delta_{\alpha}(\lambda)} d\lambda = \sum_{n=-N}^{N} \text{Res}\left(\lambda \frac{\dot{\Delta}_{\alpha}(\lambda)}{\Delta_{\alpha}(\lambda)}, \lambda_n\right) = \sum_{n=0}^{N} (\lambda_n + \lambda_{-n})$$
(21)

and similarly

$$\frac{1}{2\pi i} \oint_{\Gamma_N} \lambda \frac{\dot{\Delta}_{\alpha}^{(\lambda)}(\lambda)}{\Delta_{\alpha}^{(\lambda)}(\lambda)} d\lambda = \sum_{n=-N}^{N} \text{Res}\left(\lambda \frac{\dot{\Delta}_{\alpha}^{(\lambda)}(\lambda)}{\Delta_{\alpha}^{(\lambda)}(\lambda)}, \frac{n\alpha}{\pi^{\alpha-1}}\right) = \sum_{n=0}^{N} \left[\frac{n\alpha}{\pi^{\alpha-1}} + \left(-\frac{n\alpha}{\pi^{\alpha-1}}\right)\right]. \tag{22}$$

Subtracting (21) and (22) side by side, we get

$$\sum_{n=0}^{N} (\lambda_n + \lambda_{-n}) = \frac{1}{2\pi i} \oint_{\Gamma_N} \lambda \left(\frac{\dot{\Delta}_{\alpha}(\lambda)}{\dot{\Delta}_{\alpha}(\lambda)} - \frac{\dot{\Delta}_{\alpha}^0(\lambda)}{\dot{\Delta}_{\alpha}^0(\lambda)} \right) d\lambda = \frac{1}{2\pi i} \oint_{\Gamma_N} \lambda d \left(\ln \frac{\dot{\Delta}_{\alpha}(\lambda)}{\dot{\Delta}_{\alpha}^0(\lambda)} \right) = -\frac{1}{2\pi i} \oint_{\Gamma_N} \ln \frac{\dot{\Delta}_{\alpha}(\lambda)}{\dot{\Delta}_{\alpha}^0(\lambda)} d\lambda.$$
 (23)

On the other hand, it follows from (16) and (20) that

$$\frac{\Delta_{\alpha}(\lambda)}{\Delta_{\alpha}^{0}(\lambda)} = 1 - \frac{p(\pi) + p(0) + 2A(\lambda)}{2\lambda} - \frac{c_{1} + B(\lambda)}{\lambda} \cot\left(\frac{\lambda}{\alpha}\pi^{\alpha}\right) - \frac{c_{2}}{\lambda^{2}} - \frac{c_{3}}{\lambda^{2}} \cot\left(\frac{\lambda}{\alpha}\pi^{\alpha}\right) + O\left(\frac{1}{\lambda^{3}} \exp\left(\frac{|\tau|}{\alpha}\pi^{\alpha}\right)\right), \text{ on } \Gamma_{N},$$
(24)

where

$$A\left(\lambda\right) = \frac{1}{2} \int_0^\pi \left(q(t) + p^2(t)\right) \sin\left(\frac{2\lambda t^\alpha}{\alpha} - 2P(t)\right) d_\alpha t + \frac{1}{2} \int_0^\pi T_\alpha p(t) \cos\left(\frac{2\lambda t^\alpha}{\alpha} - 2P(t)\right) d_\alpha t,$$

$$B(\lambda) = \frac{1}{2} \int_0^{\pi} \left(q(t) + p^2(t) \right) \cos \left(\frac{2\lambda t^{\alpha}}{\alpha} - 2P(t) \right) d_{\alpha}t - \frac{1}{2} \int_0^{\pi} T_{\alpha} p(t) \sin \left(\frac{2\lambda t^{\alpha}}{\alpha} - 2P(t) \right) d_{\alpha}t.$$

Taking Taylor's expansion formula for the ln(1 - u) into account, we get

$$\ln\left(\frac{\Delta_{\alpha}(\lambda)}{\Delta_{\alpha}^{0}(\lambda)}\right) = -\frac{p(\pi) + p(0) + 2A(\lambda)}{2\lambda} - \frac{c_{1} + B(\lambda)}{\lambda} \cot\left(\frac{\lambda}{\alpha}\pi^{\alpha}\right) + O\left(\frac{1}{\lambda^{2}}\right), \text{ on } \Gamma_{N}.$$
(25)

Thus, substituting (25) into (23), we find

$$\sum_{n=0}^{N} (\lambda_n + \lambda_{-n}) = \frac{1}{2\pi i} \oint_{\Gamma_N} \frac{p(\pi) + p(0) + 2A(\lambda)}{2\lambda} d\lambda + \frac{1}{2\pi i} \oint_{\Gamma_N} \frac{c_1 + B(\lambda)}{\lambda} \cot\left(\frac{\lambda}{\alpha}\pi^{\alpha}\right) d\lambda + \frac{1}{2\pi i} \oint_{\Gamma_N} O\left(\frac{1}{\lambda^2}\right) d\lambda. \tag{26}$$

By the well-known formulas such as the generalized Cauchy integral formula, the residue theorem and $\cot z = \frac{1}{z} + 2z \sum_{n=1}^{\infty} \frac{1}{z^2 - n^2 \pi^2}$ (see [53] for more details), the contour integrals in (26) calculate that

$$\frac{1}{2\pi i} \oint_{\Gamma_{\lambda'}} \frac{p(\pi) + p(0) + 2A(\lambda)}{2\lambda} d\lambda = \frac{p(\pi) + p(0)}{2} + A(0), \tag{27}$$

$$\frac{1}{2\pi i} \oint_{\Gamma_N} \frac{c_1 + B(\lambda)}{\lambda} \cot\left(\frac{\lambda}{\alpha}\pi^{\alpha}\right) d\lambda = \frac{\alpha B(0)}{\pi^{\alpha}} + \frac{1}{\alpha \pi^{1-\alpha}} \sum_{n=1}^{N} \frac{1}{n} \left[B\left(\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) - B\left(-\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) \right] \tag{28}$$

and for sufficiently large N and each fixed α

$$\left| \oint_{\Gamma_N} O\left(\frac{1}{\lambda^2}\right) d\lambda \right| = O\left(\frac{1}{N}\right). \tag{29}$$

From (26)-(29), we get

$$2\lambda_0 + \sum_{n=1}^{N} \left\{ \lambda_n + \lambda_{-n} - \frac{1}{n\alpha\pi^{1-\alpha}} \left[B\left(\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) - B\left(-\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) \right] \right\} = \frac{p(\pi) + p(0)}{2} + A(0) + \frac{\alpha \dot{B}(0)}{\pi^{\alpha}} + O\left(\frac{1}{N}\right). \tag{30}$$

For $N \to \infty$ in (30),

$$2\lambda_0 + \sum_{n=1}^{\infty} \left\{ \lambda_n + \lambda_{-n} - \frac{1}{n\alpha\pi^{1-\alpha}} \left[B\left(\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) - B\left(-\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) \right] \right\} = \frac{p(\pi) + p(0)}{2} + A(0) + \frac{\alpha B(0)}{\pi^{\alpha}}$$
(31)

is obtained.

Now we consider the case $c_0 \neq 0$.

It is obvious that we can rewrite the equation (1) as

$$-T_{\alpha}T_{\alpha}y + \left[2(\lambda - c_0)(p(x) - c_0) + q(x) + 2c_0p(x) - c_0^2\right]y = (\lambda - c_0)^2 y.$$

Denote $\lambda - c_0 = \widetilde{\lambda}$, $q(x) + 2c_0p(x) - c_0^2 = \widetilde{q}(x)$ and $p(x) - c_0 = \widetilde{p}(x)$. Thus we get that

$$-T_{\alpha}T_{\alpha}y + \left[2\widetilde{\lambda}\widetilde{p}(x) + \widetilde{q}(x)\right]y = \widetilde{\lambda}^{2}y. \tag{32}$$

For the equation (32), in the case $\widetilde{c}_0 = \int_0^{\pi} \widetilde{p}(t) d_{\alpha}t = 0$, according to (31), we obtain

$$2\widetilde{\lambda}_0 + \sum_{n=1}^{\infty} \left[\widetilde{\lambda}_n + \widetilde{\lambda}_{-n} - \frac{B_n}{n\alpha\pi^{1-\alpha}} \right] = \frac{\widetilde{p}(\pi) + \widetilde{p}(0)}{2} + \widetilde{A}(0) + \frac{\alpha \widetilde{B}(0)}{\pi^{\alpha}}, \tag{33}$$

where

$$A\left(\widetilde{\lambda}\right) := \widetilde{A}\left(\lambda\right) = A\left(\lambda\right), B\left(\widetilde{\lambda}\right) := \widetilde{B}\left(\lambda\right) = B\left(\lambda\right) \text{ and } \widetilde{B}\left(\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) - \widetilde{B}\left(-\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) = B_n.$$

Substituting the expressions of $\widetilde{\lambda}_n$, $\widetilde{q}(x)$ and $\widetilde{p}(x)$ into (33), we arrive at (18).

Similarly, we prove that the formula (19) is true.

We consider the case $c_0=0$ again. Denote $\Delta_{\alpha}(\lambda)=\lambda^2\left(\lambda-\lambda_n\right)$ and $\Delta_{\alpha}^0(\lambda)=\lambda^2\left(\lambda-\frac{n\alpha}{\pi^{\alpha-1}}\right)$. Then, we have

$$\sum_{n=0}^{N} \left[\lambda_{n}^{2} + \lambda_{-n}^{2} - \left(\frac{n\alpha}{\pi^{\alpha-1}} \right)^{2} - \left(-\frac{n\alpha}{\pi^{\alpha-1}} \right)^{2} \right] = \frac{1}{2\pi i} \oint_{\Gamma_{N}} \lambda^{2} \left(\frac{\lambda_{\alpha}(\lambda)}{\Delta_{\alpha}(\lambda)} - \frac{\lambda_{\alpha}^{0}(\lambda)}{\Delta_{\alpha}^{0}(\lambda)} \right) d\lambda$$

$$= \frac{1}{2\pi i} \oint_{\Gamma_{N}} \lambda^{2} d \left(\ln \frac{\Delta_{\alpha}(\lambda)}{\Delta_{\alpha}^{0}(\lambda)} \right) = -\frac{1}{2\pi i} \oint_{\Gamma_{N}} 2\lambda \ln \frac{\Delta_{\alpha}(\lambda)}{\Delta_{\alpha}^{0}(\lambda)} d\lambda. \tag{34}$$

From (24), we obtain

$$\ln\left(\frac{\Delta_{\alpha}(\lambda)}{\Delta_{\alpha}^{0}(\lambda)}\right) = -\frac{p(\pi) + p(0) + 2A(\lambda)}{2\lambda} - \frac{c_{1} + B(\lambda)}{\lambda}\cot\left(\frac{\lambda}{\alpha}\pi^{\alpha}\right) - \frac{c_{2}}{\lambda^{2}} - \frac{c_{3}}{\lambda^{2}}\cot\left(\frac{\lambda}{\alpha}\pi^{\alpha}\right) + O\left(\frac{1}{\lambda^{3}}\right), \text{ on } \Gamma_{N}.$$
(35)

Thus, the integral on the right side of (34) is written as

$$-\frac{1}{2\pi i} \oint_{\Gamma_{N}} 2\lambda \ln \frac{\Delta_{\alpha}(\lambda)}{\Delta_{\alpha}^{0}(\lambda)} d\lambda = \frac{1}{2\pi i} \oint_{\Gamma_{N}} \left[p(\pi) + p(0) + 2A(\lambda) \right] d\lambda + \frac{1}{2\pi i} \oint_{\Gamma_{N}} 2 \left[c_{1} + B(\lambda) \right] \cot \left(\frac{\lambda}{\alpha} \pi^{\alpha} \right) d\lambda + \frac{1}{2\pi i} \oint_{\Gamma_{N}} \frac{2c_{2}}{\lambda} d\lambda + \frac{1}{2\pi i} \oint_{\Gamma_{N}} \frac{2c_{3}}{\lambda} \cot \left(\frac{\lambda}{\alpha} \pi^{\alpha} \right) d\lambda + \frac{1}{2\pi i} \oint_{\Gamma_{N}} O\left(\frac{1}{\lambda^{2}} \right) d\lambda .$$
(36)

For the contour integrals in (36), we have

$$\frac{1}{2\pi i} \oint_{\Gamma_N} \left[p(\pi) + p(0) + 2A(\lambda) \right] d\lambda = 0 , \qquad (37)$$

$$\frac{1}{2\pi i} \oint_{\Gamma_N} 2\left[c_1 + B\left(\lambda\right)\right] \cot\left(\frac{\lambda}{\alpha}\pi^{\alpha}\right) d\lambda = \frac{2\alpha c_1}{\pi^{\alpha}} + \frac{4\alpha c_1}{\pi^{\alpha}} N + \frac{2\alpha B(0)}{\pi^{\alpha}} + \frac{2\alpha}{\pi^{\alpha}} \sum_{n=1}^{N} \left[B\left(\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) + B\left(-\frac{n\alpha^2}{\pi^{2\alpha-1}}\right)\right],\tag{38}$$

$$\frac{1}{2\pi i} \oint_{\Gamma_{1}} \frac{2c_2}{\lambda} d\lambda = 2c_2 , \qquad (39)$$

$$\frac{1}{2\pi i} \oint_{\Gamma_N} \frac{2c_3}{\lambda} \cot\left(\frac{\lambda}{\alpha}\pi^{\alpha}\right) d\lambda = 0. \tag{40}$$

Substituting the expressions of (29) and (37)-(40) into (36), we arrive

$$-\frac{1}{2\pi i} \oint_{\Gamma_N} 2\lambda \ln \frac{\Delta_{\alpha}(\lambda)}{\Delta_{\alpha}^0(\lambda)} d\lambda = \frac{2\alpha c_1}{\pi^{\alpha}} + \frac{4\alpha c_1}{\pi^{\alpha}} N + \frac{2\alpha B(0)}{\pi^{\alpha}} + \frac{2\alpha}{\pi^{\alpha}} \sum_{n=1}^{N} \left[B\left(\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) + B\left(-\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) \right] + 2c_2 + O\left(\frac{1}{N}\right)$$

and from (34)

$$2\lambda_0^2 + \sum_{n=0}^{N} \left\{ \lambda_n^2 + \lambda_{-n}^2 - 2\left(\frac{n\alpha}{\pi^{\alpha-1}}\right)^2 - \frac{4\alpha c_1}{\pi^{\alpha}} - \frac{2\alpha}{\pi^{\alpha}} \left[B\left(\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) + B\left(-\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) \right] \right\} = \frac{2\alpha c_1}{\pi^{\alpha}} + \frac{2\alpha B(0)}{\pi^{\alpha}} + 2c_2 + O\left(\frac{1}{N}\right). \tag{41}$$

For $N \to \infty$ in (41),

$$2\lambda_0^2 + \sum_{n=0}^{\infty} \left\{ \lambda_n^2 + \lambda_{-n}^2 - 2\left(\frac{n\alpha}{\pi^{\alpha-1}}\right)^2 - \frac{4\alpha c_1}{\pi^{\alpha}} - \frac{2\alpha}{\pi^{\alpha}} \left[B\left(\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) + B\left(-\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) \right] \right\} = \frac{2\alpha c_1}{\pi^{\alpha}} + \frac{2\alpha B(0)}{\pi^{\alpha}} + 2c_2$$
 (42)

is obtained.

In the case $c_0 \neq 0$, from (42), we can write that

$$2\widetilde{\lambda}_0^2 + \sum_{n=0}^{\infty} \left[\widetilde{\lambda}_n^2 + \widetilde{\lambda}_{-n}^2 - 2\left(\frac{n\alpha}{\pi^{\alpha-1}}\right)^2 - \frac{4\alpha\widetilde{c}_1}{\pi^{\alpha}} - \frac{2\alpha C_n}{\pi^{\alpha}} \right] = \frac{2\alpha\widetilde{c}_1}{\pi^{\alpha}} + \frac{2\alpha\widetilde{B}(0)}{\pi^{\alpha}} + 2\widetilde{c}_2 . \tag{43}$$

Substituting the known expressions of $\widetilde{\lambda}_n$, $\widetilde{q}(x)$ and $\widetilde{p}(x)$ into (43), we arrive the formula (19), where

$$C_n = \widetilde{B}\left(\frac{n\alpha^2}{\pi^{2\alpha-1}}\right) + \widetilde{B}\left(-\frac{n\alpha^2}{\pi^{2\alpha-1}}\right),$$

$$\widetilde{c}_1 = c_1$$

$$\widetilde{c}_2 = \frac{\left(p(\pi) - c_0\right) \left(p(\pi) - p(0)\right)}{2} - \frac{\left(p(\pi) - c_0\right)^{1 + \alpha} + \left(p(0) - c_0\right)^{1 + \alpha}}{2} - \frac{\left(p(\pi) - p(0)\right)^{1 + \alpha}}{4(1 + \alpha)} + hH + \frac{(h + H)}{2} \int_0^\pi \left(q(t) + p^2(t)\right) d_\alpha t dt$$

$$+\frac{1}{8}\left(\int_0^{\pi}\left(q(t)+p^2(t)\right)d_{\alpha}t\right)^2$$
. \square

4. Conclusion

In this paper, we suggested a diffusion operator with conformable fractional derivatives and obtained the trace formulae for this operator. This results can be considered as a fractional generalization of the trace formulae for the classical diffusion operator in [49]. We believe that the researchers can study inverse problems according to two spectra for the given operator by using these formulae.

References

- [1] K. S. Miller, An Introduction to fractional calculus and fractional differential equations. J Wiley and Sons New York: 1993.
- K. Oldham, J. Spanier, The fractional calculus theory and applications of differentiation and integration of arbitrary Order. Elsevier Science; 1974.
- [3] A. A. Kilbas, H. M. Srivastava, J. J. Trujillo, Theory and applications of fractional differential equations. North-Holland Math Studies, Elsevier, Amsterdam; 2006.
- [4] I. Podlubny, Fractional differential equations. USA: Academic Press; 1999.
- [5] R. Khalil, M. Al Horani, A. Yousaf, M. Sababheh, A new definition of fractional derivative, Journal of Computational and Applied Mathematics. 264 (2014) 65–70.
- [6] T. Abdeljawad, On conformable fractional calculus, J Comput Appl Math. 279 (2015) 57-66.
- [7] A. Atangana, D. Baleanu, A. Alsaedi, New properties of conformable derivative, Open Mathematics. 13(1) (2015) 889–898.
- [8] M. Abu Hammad, R. Khalil, Abel's formula and Wronskian for conformable fractional differential equations, Int. J. Differ. Equ. Appl. 13(3) (2014) 177–183.
- [9] O. T. Birgani, S. Chandok, N. Dedović, S. Radenović, A note on some recent results of the conformable derivative, Adv. Theory Nonlinear Anal. Appl. 3(1) (2019) 11–17.
- [10] D. Zhao, M. Luo, General conformable fractional derivative and its physical interpretation, Calcolo. 54 (2017) 903–917.

- [11] F. Jarad, E. Uğurlu, T. Abdeljawad, D. Baleanu, On a new class of fractional operators, Adv. Differ. Equ. 2017, Article ID 247 (2017).
- [12] H. W. Zhou, S. Yang, S. Q. Zhang, Conformable derivative approach to anomalous diffusion, Physica A. 491 (2018) 1001–1013.
- [13] M. J. Lazo, D. F. M. Torres, Variational calculus with conformable fractional derivatives, IEEE/CAA Journal of Automatica Sinica. 4(2) (2017) 340–352.
- [14] W. S. Chung, Fractional Newton mechanics with conformable fractional derivative, Journal of Computational and Applied Mathematics. 290 (2015) 150–158.
- [15] D. R. Anderson, D. J. Ulness, Properties of the Katugampola fractional derivative with potential application in quantum mechanics, Journal of Mathematical Physics. 56 (2015) 063502-063502-18.
- [16] N. Benkhettou, S. Hassani, D. F. M. Torres, A conformable fractional calculus on arbitrary time scales, Journal of King Saud University Science. 28(1) (2016) 93–98.
- [17] E. R. Nwaeze, D. F. M. Torres, Chain rules and inequalities for the BHT fractional calculus on arbitrary timescales, Arab Journal Math. 6 (2017) 13–20.
- [18] M. Al-Rifae, T. Abdeljawad, Fundamental results of conformable Sturm-Liouville eigenvalue problems, Complexity. 2017 (2017) 3720471.
- [19] T. Abdeljawad, J. Alzabut, F. Jarad, A generalized Lyapunov-type inequality in the frame of conformable derivatives, Advances in Difference Equations. 321 2017 (2017).
- [20] T. Abdeljawad, R. P. Agarwal, J. Alzabut, F. Jarad, A. Özbekler, Lyapunov-type inequalities for mixed non-linear forced differential equations within conformable derivatives, Journal of Inequalities and Applications. 2018 143 (2018).
- [21] B. P. Allahverdiev, H. Tuna, Y. Yalçinkaya, Conformable fractional Sturm-Liouville equation, Mathematical Methods in the Applied Sciences. 42(10) (2019) 3508-3526.
- [22] A. Younus, T. Abdeljawad, T. Gul, On Stability Criteria of Fractal Differential Systems of Conformable Type, Fractals. 28(8) (2020) 2040009
- [23] A. Younas, T. Abdeljawad, R. Batool, A. Zehra, M. A. Alqudah, Linear conformable differential system and its controllability, Advances in Difference Equations. 2020 449 (2020).
- [24] B. Keskin, Inverse problems for one dimentional conformable fractional Dirac type integro differential system, Inverse Problems. 36(6) (2020) 065001.
- [25] I. Adalar, A. S. Ozkan, Inverse problems for a conformable fractional Sturm-Liouville operators, Journal of Inverse and Ill-posed Problems. 28(6) (2020) 775-782.
- [26] Y. Çakmak, Inverse Nodal Problem for a Conformable Fractional Diffusion Operator, Inverse Problems in Science and Engineering 2020; doi.org/10.1080/17415977.2020.1847103.
- [27] Y. Wang, J. Zhou, Y. Li, Fractional sobolev's spaces on time scales via conformable fractional calculus and their application to a fractional differential equation on time scales, Advances in Mathematical Physics. 2016 (2016) 1-21.
- [28] M. A. Hammad, R. Khalil, Abel's formula and wronskian for conformable fractional differential equations, International Journal of Differential Equations and Applications. 13(3) (2014) 177–183.
- [29] M. Pospíšil, L.P. Škripková, Sturm's theorems for conformable fractional differential equations, Mathematical Communications. 21(2) (2016) 273–281.
- [30] S. K. Panda, C. Ravichandran, B. Hazarika, Results on system of Atangana–Baleanu fractional order Willis aneurysm and nonlinear singularly perturbed boundary value problems, Chaos, Solitons and Fractals. 142 (2021) 110390. doi.org/10.1016/j.chaos.2020.110390
- [31] I. M. Gelfand, B. M. Levitan, On a simple identity for eigenvalues of the differential operator of second order, Doklady Akademii Nauk SSSR 88:4 (1953) 593-596.
- [32] L. A. Dikii, On the Gelfand-Levitan formula, Uspekhi Matematicheskikh Nauk 8(2) (1953) 119-123.
- [33] L. A. Dikii, Trace formulas for differential operators of Sturm-Liouville, Uspekhi Matematicheskikh Nauk 13(3) (1958) 111-143.
- [34] V. V. Dubrovskii, Regularized trace of the Sturm-Liouville operator, Differentsialnye Uravneniya 16(6) (1980) 1127-1129.
- [35] F. Gesztesy, H. Holden, Z. Zhao, Trace formulae and inverse spectral theory for Schrödinger operators, Bull Amer. Math Soc. 29(2) (1993) 250-255.
- [36] F. Gesztesy, H. Holden, On new trace formulae for Schrödinger operators, Acta Appl Math. 39 (1995) 315-333.
- [37] G. S. Guseinov, B. M. Levitan, On trace formulas for Sturm-Liouville operators. Vestnik Moskov Univ. Ser. I Mat. Mekh. 1 (1978)
- [38] M. G. Krein, On perturbation determinants and the trace formula for unitary and self-adjoint operators, Doklady Akademii Nauk SSSR. 144(2) (1962) 268-271. (in Russian).
- [39] P. D. Lax, Trace formulas for the Schrödinger operator. Communications on Pure and Applied Mathematics, 47(4) (1994) 503-512.
- [40] B. M. Levitan, Calculation of a regularized trace for the Sturm-Liouville operator, Uspekhi Matematicheskikh Nauk. 19(1) (1964) 161-165.
- [41] V. A. Lyubishkin, V. E. Podol'skii, On the integrability of regularized traces of differential operators, Matematicheskie Zametki 54(2) (1993) 33-38.
- [42] A. S. Makin, Trace formulas for the Sturm-Liouville operator with regular boundary conditions, Doklady Mathematics 76(2) (2007) 702-707.
- [43] V. G. Papanicolaou, Trace formulas and the behaviour of large eigenvalues. SIAM Journal on Mathematical Analysis, 26(1) (1995) 218-237
- [44] V. A. Sadovnichii, V. E. Podol'skii, Traces of differential operators, Differential Equations. 45(4) (2009) 477-493.
- [45] R. F. Shevchenko, Regularization of the trace of the ordinary differential operator, Vestnik Moskov Univ. Ser. I Mat. Mekh. 6 (1965) 28-36.
- [46] V. A. Vinokurov, V. A. Sadovnichii, The eigenvalue and the trace of the Sturm-Liouville operator as differentiable functions of an

- integrable potential, Dokl Ross Akad Nauk. 365(3) (1999) 295-297.
- [47] Z. F. A. El-Raheem, On some trace formula for the Sturm-Liouville operator, Pure Mathematics and Applications. 7(1-2) (1996)
- [48] E. Gül, On the regularized trace of a second order differential operator, Applied Mathematics and Computation 198(2) (2008) 471-480.
- [49] C. F. Yang, New trace formulae for a quadratic pencil of the Schrödinger operator, Journal of Mathematical physics, 51(3) (2010) 33506-33506-10.
- [50] H. Mortazaasl, A. Jodayree Akbarfam, Trace formula and inverse nodal problem for a conformable fractional Sturm-Liouville problem, Inverse Problems in Science and Engineering, 28(4) (2019) 524-555.

 [51] S. A. Buterin, On half inverse problem for differential pencils wiith the spectral parameter in the boundary conditions, Tamkang
- Journal of Mathematics. 42(3) (2011) 355-364.
- [52] G. Freiling, V. A. Yurko, Inverse Sturm-Liouville problems and their applications. New York: Nova Science Publishers; 2001.
- [53] L. Ahlfors, Complex Analysis. McGraw-Hill, New York.1966.